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e mydata <-iris

— ik iris B 15 28 B —{ERTHY R mydata BYEHE

> mydata

e mydata

1 5.1 3.5
2 4.9 3.0
3 4.7 3.2
4 4.6 3.1
5 5.0 3.6
6 5.4 3.9
7 4.6 3.4
8 5.0 3.4
9 4.4 2.9
10 4.9 3.1
11 5.4 3.7
12 4.8 3.4
13 4.8 3.0
14 4.3 3.0
15 5.8 4.0
16 5.7 4.4
17 5.4 3.9
18 5.1 3.5
19 5.7 3.8
20 5.1 3.8
21 5.4 3.4
22 5.1 3.7
23 4.6 3.6
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Sepal .Length Sepal .Width Petal .Length Petal .Width
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Species
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
setosa
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e mystat <- c(max( mydata[, 1] ), mean( mydata[, 1] ), median( mydata[,
11]), min( mydata[, 1] ), sd( mydata[,1]))
s B —tHBIRAY AR (E max, “FE5{H mean, 78 median, £/)\
{E min, 1HE4E5Esd

e mystat

> mystat
[1] 7-9000000 5.8433333 5.8000000 4.3000000 0.8280661
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e summay( mydata)

— 15 mydata (Y EZHETER - & KME max, FEXI{H mean, {78
median, 5/]ME min, S2—PU43 78 1st Qu. > 5 =043 ir# 3rd Qu.

e summay( mydata) P
. *%“%ﬂﬂw““%%ﬂ&a
7 : Ctrl-C
B T R R

FTFEHE HTRIER DA

AESL
> summary(mydata)

Sepal .Length Sepal .Width Petal .Length Petal .Width Species
Min. :4.300 Min. -2.000 Min. :1.000 Min. :0.100 setosa :50
1st Qu.:5.100 1st Qu.:2.800 1st Qu.:1.600 1st Qu.:0.300 versicolor:50
Median :5.800 Median :3.000 Median :4.350 Median :1.300 virginica :50
Mean -5.843 Mean :3.057 Mean :3.758 Mean -1.199
3rd Qu.:6.400 3rd Qu.:3.300 3rd Qu.:5.100 3rd Qu.:1.800
Max . 7.900 Max . 4.400 Max . 6.900 Max . 2.500

>
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e layout( matrix(c(1,0,2,3), 2,2, byrow=T), widths =¢(2,1), heights =
c(1,2))
- ZPRgHEIPrE - =@ > oRlEE R AN 51
— EAEEREEEG A 1:2 - FETEIEESEAELE]E 2:1
e plot( mydata[ ,1])
— EilE —HEIRET
e hist(mydata[ ,1])
— gl — A EIR AT E P
e boxplot( mydata[, 1])
— gl —HEIRN S 5 E
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e plot( mydata[ ,1])
- fgslE —HER EY

WA HL 5
*f RPFREHE T A% ¢ h 5 "Export”
i# 2~ : Copy to Clipboard
L%  Copy Plot
RS P R
7T Ctrl-v
AEAL
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e hist( mydata[ ,1])
— el —HEIRGETE P

Histogram of mydatal, 1]

20

mzl !32 %‘l—a X )
* R REE %m T B % ¢ 0 "Export” .
i B~ : Copy to Clipboard !
gLiE : Copy Plot
FEEES DR O
#7T Ctrl-v
PHEAD

5 -]

rydataf, 1]
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e boxplot( mydata[ ,1])
— el — BB R R E
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* ok R %m T RA,% ¢ eh 5 "Export”

45

i P~ 1 Copy to Clipboard
gLiE : Copy Plot
RS DT A R
#7T Ctrl-v
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e layout( matrix(c(1,0,2,3), 2,2, byrow=T), widths =¢(2,1), heights =
c(1,2))
- ZPRgHEIPrE - =@ > oRlEE R AN 51
— EAEEREEEG A 1:2 - FETEIEESEAELE]E 2:1
e plot( mydata[ ,1])
— EilE —HEIRET
e hist(mydata[ ,1])
— gl — A EIR AT E P
e boxplot( mydata[, 1])
— gl —HEIRN S 5 E
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# B~ Copy to Clipboard
2L:% : Copy Plot

RS DT A R

7 Ctrl-V
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